The Role of Genetics In Evolution - WORKSHEET
A) Read and study pp. 180 – 187 (Stop at Independent Assortment)

- On a lined piece of paper put down the title above and complete the remainder of this worksheet.

B) Use the glossary (or Google) to write out the definitions for the following key terms:
1. Self Pollination


5. Dominant
2. Cross Pollinataion


6. Recessive

3. Purebred



7. Homozygous

4. Hybrid



8 Heterozygous

C) Complete the questions listed below in Full Sentence Answers.
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1. The picture above represents the “Father of Genetics”, who is he and when did he live?

2. Describe how Mendel prevented “self-pollination” in his pea plants?

3. List the seven pairs of opposing phenotypes Mendel observed in some garden pea plants. (p. 183)

4. Which method of fertilization would increase diversity in a species of pea plants; self or cross? (p.182)

5. When Mendel crossed a pollen (sperm) from a plant that was tall with an ovum (egg) from a plant that was short, new seeds were produced, when they were planted what did the resulting plants look like? (p. 184)

6. Which of the following alleles is dominant, yellow or green? (p.185)

7. Does this kind of “Principle of Dominance” apply to all genes? (p. 185)

8. Describe what each abbreviation represents:  “P” “F1” and “F2”.

9. Draw and label Figure 9.6 on p.186.

10. If one of the genes for pea seeds is wrinkled (r) and the other is round (R); give the genotypes for a homozygous round, homozygous wrinkled, and a heterozygous round. 

11. How many alleles are there for pea plant height (and list them), how many genotypes for pea plant height (and list them) and how many phenotypes for pea-plant height (and list them)?
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12. Use a Punnett square to give the genotypes and phenotypes for the following test crosses:

a) Heterozygous Round and a (Homozygous) Wrinkled.

b) Heterozygous Tall and another Heterozygous Tall.

c) Heterozygous Tall and a Homozygous Short.

13. If black fur coat (B) is dominant to white fur coat (b), if two rabbits mate and 50 % of their offspring are white while the other 50% are black, what genotypes must the parents have had in order to produce those results.

14. If a black rabbit and another black rabbit mate, and the offspring show a phenotypic ratio of 75% being black and 25% being white, what genotypes must the parents have had?

PUNNETT SQUARE EXAMPLE:
Where one gene for pea plant height has two Alleles – 

T- allele is dominant and codes for tall height

t- allele is recessive and codes for short height
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